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NCERT	Solutions	Class	9	Social	Sciences	(Economics)	Chapter	1	The	Story	of	Village	Palampur	â​​	Here	are	all	NCERT	Solutions	for	Class	9	Social	Sciences	(Economics)	Chapter	1.	This	solution	contains	questions,	answers,	pictures,	explanations	of	the	full	Chapter	1	titled	The	Story	of	Village	Palampur	of	Social	Science	(Economics)	taught	in	Class	9.	If
you	are	a	Grade	9	student	who	is	using	the	NCERT	textbook	to	study	Social	Sciences	(Economics,)	then	you	should	meet	Chapter	1	The	History	of	the	Palampur	Village.	After	studying	class,	you	must	be	looking	for	answers	to	your	questions.	Here	you	can	get	complete	NCERT	solutions	for	class	9	Social	Sciences	(Economics)	Chapter	1	The	history	of
the	village	Palampur	in	one	place.	Here	on	AglaSem	Schools,	you	can	access	NCERT	Book	Solutions	as	a	free	pdf	for	Social	Science	Economics	for	Class	9	so	you	can	refer	them	as	and	when	needed.	NCERT	solutions	to	questions	after	each	unit	of	NCERT	textbooks	aimed	at	helping	students	solve	difficult	questions.	For	a	better	understanding	of	this
chapter,	you	should	also	see	the	summary	of	Chapter	1	The	History	of	the	Village	Palampur,	Economics	of	Social	Science,	Class	9.	Class	9	Social	Sciences	Book	Economics	Chapter	number	1	Chapter	Name	of	Chapter	The	History	of	the	Village	Palampur	NCERT	Solutions	Class	9	Social	Sciences	Economics	Chapter	1	The	History	of	the	Village
Palampur	Scholarship	worth	15	Lakh	Class	9,	Economics	of	Social	Science	Chapter	1,	The	History	of	the	Village	Palampur	Solutions	are	given	below	in	PDF	format.	You	can	view	them	online	or	download	PDF	files	for	future	use.	NCERT	Solutions	for	Class	9	Economics	Chapter	1	History	of	the	Palampur	Village	Download	Have	you	found	NCERT
Solutions	Class	9	Social	Science	Economics	Chapter	9	1	History	of	the	Palampur	Village	helpful?	If	so,	please	comment	below.	Also	please	like,	and	share	with	your	friends!	NCERT	Solutions	Class	9	Social	Science	Economics	Chapter	1	The	History	of	Village	Palampur	–	Video	You	can	also	watch	the	video	solutions	of	NCERT	Class9	Social	Science
Economics	Chapter	1	The	Story	of	Village	Palampur	here.	If	you	enjoyed	the	video,	please	subscribe	to	our	YouTube	channel	so	that	you	can	get	more	interesting	and	useful	study	resources.	Download	the	chapter	NCERT	Solutions	Class	9	Social	Science	Economics	1	The	History	of	the	Village	Palampur	in	PDF	format	You	can	also	download	the
NCERT	Solutions	Class	9	Social	Science	Economics	Chapter	1	The	Story	of	Village	Palampur	in	PDF	format	here.	Click	here	to	download	NCERT	Solutions	for	Class	9	Social	Economy	Chapter	1	The	History	of	Palampur	Village	Q.1:	The	following	table	1.1	shows	the	cultivated	land	in	India	in	units	of	millions	of	hectares.	Plot	this	on	the	chart	provided.
What	does	the	graph	show?	Discuss	in	class.	Is	it	important	to	increase	the	area	under	irrigation?	Why?	You	read	about	crops	grown	in	Palampur.	Fill	in	the	following	table	based	on	the	information	on	the	crops	grown	in	your	region:	(i)	The	graph	above	shows	the	Under	cultivation	in	India	in	units	of	millions	of	hectares.	The	chart	shows	that	the	land
under	cultivation	in	India	was	120	million	hectares	in	1950,	which	rose	to	140	million	hectares	in	1970	and	remained	constant	to	140	million	hectares	until	2000.	(II)	Yes,	it	is	important	to	increase	the	land	area	under	irrigation	firstly	So	that	farmers	can	make	more	crops	and	grow	more	than	one	crop	in	a	year	and	increase	their	production	and	earn.
Secondly,	the	use	of	HYV	seeds	needs	plenty	of	water	to	give	the	best	results.	(iii)	Q.2:	What	is	the	difference	between	more	crops	and	modern	farming	method?	ANS:	the	multiple	cutout	to	grow	more	than	one	crop	on	a	piece	of	land	during	the	year	is	known	as	multiple	is	the	most	common	way	of	increasing	production	on	a	certain	piece	of	modern
agriculture	method	Haryana	and	Western	Uttar	Pradesh	uses	Hyv	Hyv	Semi,	wells	of	irrigation	pipe,	chemical	fertilizers	and	pesticides,	as	well	as	machinery	as	tractors	and	treblers	to	increase	production.	All	these	measures	include	what	is	known	as	Q.3	modem	shaping	methods:	The	following	table	shows	the	production	of	wheat	and	impulses	in
India	after	the	green	revolution	in	units	of	millions	of	tons.	Track	this	on	a	chart.	Was	the	Green	Revolution	equally	successful	for	both	crops?	Discuss.	ANS:	Between	1965	and	2001,	impulse	production	increased	negligently,	while	wheat	production	increased	considerably.	So,	we	can	say	that	the	green	revolution	has	had	more	success	in	increasing
grain	production	than	impulses.	Q.4:	What	is	the	circular	capital	required	by	the	farmer	using	modern	agricultural	methods?	ANS:	the	circulating	capital	required	by	the	farmer	using	modern	farming	methods	are	materials	and	money	before.	Money	is	always	required	during	production	to	make	payments	and	buy	other	items	needed.	Q.5:	Modern
farming	methods	require	that	the	farmer	start	with	more	cash	than	before.	Why?	ANS:	modern	agricultural	methods	require	the	use	of	HYV	seeds	that	need	chemical	fertilizers	and	pesticides	to	produce	better	results	and	greater	production.	However,	for	the	purchase	of	all	these	inputs	it	is	necessary	a	lot	of	money,	so	a	farmer	must	have	more
money	to	start	agriculture.	Book	NCert	/	CBSE	for	the	Economy	of	Social	Sciences	Class	9	You	can	download	the	NCert	book	for	the	social	economy	of	Class	9	in	PDF	format.	Otherwise	you	can	also	buy	it	easily	online.	Click	here	for	NCert	Book	for	Class	9	Social	Science	Economics	Click	here	to	buy	NCert	Book	for	Class	9	Social	Science	Economics
All	solutions	NCert	Class	9	All	NCert	solutions	You	can	also	control	NCert	solutions	from	other	classes	here.	Click	on	the	class	number	belowgo	to	the	relevant	NCert	solutions	of	Class	1,	2,	3,	4,	5,	6,	7,	8,	9,	10,	11,	12.	Download	the	NCert	Solutions	app	for	quick	access	to	the	class	NCert	Solutions	9	Social	Science	Economics	Chapter	1	The	history	of
the	village	of	Palampur.	It	will	help	you	stay	up	to	date	with	relevant	study	material	to	help	you	get	past	your	class!	Next	to	Get.	Get.	reviews	notices	and	job	notices	from	the	government	in	India,	join	our	Telegram	channel.	Correct	answer:	Correct	answer:	Correct	answer:	NCERT	Solutions	for	Class	9	Social	Economy	Chapter	1	The	history	of	the
village	of	Palampur	contains	the	solutions	to	the	exercises	given	in	the	textbook.	These	solutions	also	contain	answers	to	all	questions	for	discussion.	These	NCERT	solutions	are	helpful	for	students	as	they	help	score	high	exam	scores.	NCERT	Solutions	for	the	Class	9	Economy	Chapter	1	Discuss	Let’s	Discuss	Page	No.	3	Question	1:	The	following
table	1.1	shows	the	cultivated	land	in	India	in	units	of	millions	of	hectares.	Plot	this	on	the	chart	provided.	What	does	the	graph	show?	Discuss	in	class.	Table	1.1:	Cultivated	area	over	the	years	Cultivated	area	(million	hectares)	1950-511	291	990-911	572	000-011	562	010-111	562	011-121	562	012-131	552	013-141	562	014-15	155	Answer:	The	above
graph	shows	the	cultivated	land	in	India	in	units	of	millions	of	hectares.	The	graph	shows	that	the	cultivated	land	in	India	was	120	million	hectares	in	1950,	which	in	1970	stood	at	140	million	hectares	and	remained	constant	at	140	million	hectares	until	2000.	Question	2:	Is	it	important	to	increase	the	area	under	irrigation?	Why?	Answer:	Yes,	it	is
important	to	increase	the	land	area	under	irrigation	first	so	that	farmers	can	make	more	cuttings	and	grow	more	than	one	crop	in	a	year	and	increase	their	production	and	earn.	Secondly,	the	use	of	HYV	seeds	needs	a	lot	of	water	to	give	the	best	results.	Question	3:	You’ve	read	about	crops	grown	in	Palampur.	Fill	in	the	following	table	based	on
information	about	crops	grown	in	your	region	Name	of	cropSownMonthSource	of	irrigation	(Rain,	reservoirs,	tubewells,	canals,	etc.)	Answer:	Name	of	cropSownMonth	Harvested	Source	of	irrigation	(rays,	reservoirs,	tubewells,	canals,	etc.)	Great	October,	DecemberApril,	JuneTubewells	and	channelsReceptionJune,	JulySeptember,	OctoberRain,
tubewells	and	channelsJower	and	BajraJune,	JulySeptember,	OctoberRain,	tubewells	and	channels	Letâ​​s	Discuss	Page	n.	5	Question	1:	What	is	the	difference	between	multiple	cropping	and	modern	farming	methods?	Answer:	Multiple	Cropping	Growing	more	than	one	crop	on	a	piece	of	land	during	the	year	is	known	as	multiple	is	the	most	common
way	to	increase	production	on	a	given	piece	of	land	Modern	farming	method	Farmers	in	Haryana	and	western	Uttar	Pradesh	use	HYV	seeds,	wells	of	pipes	for	irradiation.	irrigation,	chemical	fertilizers	and	pesticides,	as	well	as	machinery	such	as	tractors	and	shredders	to	increase	production.	All	of	these	measures	include	modem	cultivation	methods
Question	2:	The	following	table	shows	the	production	of	wheat	and	pulses	in	India	after	the	Green	Revolution	in	units	of	millions	of	tons.	Plot	it	on	a	graph.	The	Green	Revolution	was	equally	successful	for	crops?	Discuss.	Production	of	Pulses	Production	of	wheat1965	–	66101970	–	7112241980	–	8111361990	–	–â	€	œ	0111702010	â	€	œ	1118872012	â
€	â	€	1318942013	â	€	"1419962014	â	€	â	€	1517872015	â	€"	1617942016	â	€	â	€	1723992017	â	€	œ	182497	Answer:	between	1965	and	2001,	the	production	of	impulses	has	increased	negligibly	while	Wheat	production	has	increased	considerably.	So,	we	can	say	that	the	green	revolution	has	more	successful	in	increasing	wheat	production	than
impulses.	Question	3:	What	is	the	working	capital	requested	by	the	farmer	using	modern	cultivation	methods?	Answer:	The	working	capital	requested	by	the	farmer	using	modern	cultivation	methods	are	raw	material	and	money.	Money	is	always	required	during	production	to	make	payments	and	purchase	other	necessary	elements.	Question	4:
Modern	cultivation	methods	require	that	the	farmer	starts	with	more	cash	than	before.	Because'?	Answer:	Modern	cultivation	methods	require	the	use	of	HYV	seeds	that	need	chemical	fertilizers	and	pesticides	to	produce	the	best	results	and	increase	production.	However,	for	the	purchase	of	all	these	inputs	you	need	a	lot	of	money	so	that	a	farmer
needs	to	get	more	money	to	start	agriculture.	We	spread	page	n.	7	Question	1:	In	the	photo	1.5,	can	you	shade	the	land	cultivated	by	small	farmers?	Answer:	The	shaded	rectangles	with	borders	show	the	land	cultivated	by	small	farmers.	Question	2:	Why	so	many	farmers	families	cultivate	small	plots	of	land?	Answer:	The	Earth	to	Palampur	is	fixed
and	75%	of	the	people	who	work	depends	on	agriculture	for	their	sustenance.	Because	the	land	is	fixed	and	the	maximum	people	depends	on	the	earth	are	forced	to	cultivate	small	plots	of	land.	Question	3:	The	distribution	of	farmers	in	India	and	the	amount	of	land	that	cultivate	is	given	in	the	following	Graph	discuss	in	the	classroom.	Answer:	Yes,	I
agree	that	the	distribution	of	cultivated	land	is	unequal	to	Palampur	because	from	the	450	families,	150	families	are	without	land,	240	families	cultivate	small	lots	of	land	smaller	than	2	hectares	while	60	medium	farmers	And	large	dimensions	grow	more	than	2	hectares	of	land,	some	of	them	have	soils	that	extend	over	10	hectares	or	more,	which
shows	that	medium	and	large	peasants	have	more	soil	even	if	they	are	numerically	smaller.	This	clearly	shows	the	inequality	in	the	distribution	of	the	cultivated	land.	According	to	the	chart,	there	is	a	similar	situation	for	India	which	means	that	80%	of	small	farmers	cultivates	only	36%	of	the	cultivated	area	while	20%	of	large	farmers	cultivated	64%
of	the	cultivated	area.	Question	4:	Do	you	agree	that	the	distribution	of	cultivated	land	is	not	equal	to	Palampur?	Find	a	similar	situation	for	India?	Explains.	Reply:	Do	you	yourself.	Question	5:	Identify	the	work	done	in	the	field	in	images	1.6	and	organize	them	in	a	correct	sequence.	The	correct	sequence	of	activities	is	given	below	(numbers	are
marked	along	with	each	image).	(1)	Reduce	from	bullocks	(2)	Stitching	(3)	Spray	insecticides	(4)	Cultivation	by	traditional	methods	(5)	Cultivation	by	modern	methods	(6)	Cultivation	of	crops	Discs	No.	9	Question	1:	Why	agricultural	laborers	like	Dala	and	Ramkali	are	poor?	Answer:	(a)	Dala	and	Ramkali	are	landless	agricultural	workers	who	work	with
daily	wages	at	Palampur.	(b)	Although	the	minimum	wage	for	agricultural	laborers	set	by	the	government	is	60	per	day,	they	receive	only	35-40	(e)	competition	for	work	among	Pampur	agricultural	laborers	is	harsh,	so	people	agree	to	Work	for	low	wages.	(d)	the	year	and	must	take	loans	from	their	money	lender	for	fulÃƒ	ìll	with	their	needs.	Due	to
this	seasonal	unemployment,	they	remain	poor	and	are	unable	to	repay	the	loan	and	fall	into	the	debt	trap.	Question	n.	2:	Gosaipur	and	Majauli	are	two	villages	of	the	northern	Bihar.	On	a	total	of	850	families	in	the	two	villages,	there	are	more	than	250	men	working	in	the	punjab	and	Haryana	countryside	or	in	Delhi,	Mumbai,	Surat,	Hyderabad	or
Nagpur.	This	migration	is	common	to	most	of	the	villages	of	India.	Why	do	people	migrate?	Can	you	describe	(based	on	his	imagination)	the	work	that	the	migrants	of	Gosaipur	and	Majauli	could	do	in	the	place	of	destination?	Answer:	Most	people	emigrate	looking	for	work	or	better	job	opportunities	towards	city	like	Mumbai,	Delhi,	etc.	Or	towards
agricultural	regions	prosperous	as	Punjab	and	Haryana	to	work	like	agricultural	workers.	(a)	This	migration	usually	takes	place	when	a	person	is	unemployed	or	in	conditions	of	extreme	poverty,	which	can	be	due	to	the	lack	of	land,	to	displacement,	the	negative	impact	of	natural	disasters	such	as	sanctà	or	floods,	(b)	immigrants	by	Gosaipur	and
Majauli	who	went	to	the	city	will	probably	find	work	as	occasional	workers,	industrial	workers,	street	vendors,	shooters	of	ricker,	capocaric	or	domestic	workers	in	homes	and	hotels,	etc.	(c)	Those	who	went	to	the	rural	areas	of	Punjab	and	the	Haryana	will	probably	work	like	agricultural	laborers,	given	that	agriculture	is	agriculture	in	these	states.	.
We	discuss	page	No.	11	Question	1:	We	take	three	peasants.	Everyone	has	cultivated	the	grain	on	the	field	of	him	even	if	the	production	is	different	(see	column	2).	The	consumption	of	wheat	by	each	family	of	farmers	is	the	same	(column	3).	All	the	excess	grain	of	this	year	is	used	as	a	capital	for	the	production	of	the	next	year.	We	also	suppose	that
production	is	double	the	capital	used	in	production.	Complete	tables.	Conductor	1	ã,	ProductionConsumoectorDefendence	=	Capital	for	LaÃ,	Ã,	production	Ã	¢	Ã,Â	»Consumption	next	year	year	1	100	406	060	year	212	040ã,	ã,	Year	3ã,	40Ã,	Ã,	Ã,	Ã,	ã,	ProductionConsumecledentialCapitale	for	€	™	Next	year	18	040ã,	Ã,	Ã,	Ã,	Ã,	year	2ã,	40ã,	ã,	Year	3ã,
40ã,	Ã,	Ã,	Farmer	3	Ã,	ProductionConsumosurPlustitale	of	the	following	year	16	040ã,	ã,	Year	2ã,	40Ã	,	Ã,	year	3,	40ã,	ã,	ã,	1	Ã,	productionconsumosurplus	=	capital	for	laã,	Ã,	Ã,	Ã,	production	Ã	¢	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Production	year	Next	year	1	100	406	060	year	2	120	408	080	year	316	040	120	120	peasant	2	ã,
ProductionConsumedExtendanceCapitale	of	the	following	year	180	404	040	Year	280	404	040	Year	38	040	404	040	Farmer	3	Ã,	ProductionConsumOcependanceCapitale	of	the	following	year	year	16	040	202	020	year	2	404	000	year	30	404	040	Question	2:	2:	the	wheat	production	of	the	three	farmers	over	the	years.	Answer:	Agriere	1Farmer
2Farmer	3Year	11	008	060Year	21	208	040Year	3	160	800	â	̈¢	The	grain	production	of	the	first	farmer	increased	from	100	to	16CLÃ	̈	̈	̈	̈	The	grain	production	of	the	second	farmer	was	constant	at	8CLÃ	̈¢	â	̈¬¢	the	grain	production	of	the	third	farmer	Declind	from	60	to	0	Question	3:	What	happens	to	farmer	3	in	year	3?	Can	you	continue	the
production?	What	will	I	have	to	do	to	continue	the	production?	Answer:	In	the	third	year,	the	third	farmer	did	not	produce	any	grain	and	had	to	buy	the	market.	It	can	no	longer	continue	production	unless	it	organizes	capital,	for	it	has	no	surplus	to	invest	as	capital.	Let’s	discuss	page	No.	12	Question	1:	What	capital	did	the	Mishrilal	have	to	set	up	its
Jaggery	production	unit?	Answer:	To	configure	your	Mishrilal	production	unit	you	need	the	following	fixed	capital	in	the	form	of	the	sugar	cane	crusher.	Working	capital	in	the	form	of	money	to	buy	sugar	cane	from	other	farmers	for	crushing	and	to	pay	the	electricity	bill	that	performs	(B)	crushing.	Question	2:	Who	provides	the	work	in	this	case?
Answer:	the	work	is	provided	by	him	and	his	family.	Otherwise,	it	will	employ	the	landless	workers.	Question	3:	Can	you	guess	why	Mishrilal	is	not	able	to	increase	its	profit?	Answer:	(a)	Mishrilal	has	set	up	a	small-scale	unit.	(B)	The	farms	in	the	village	are	very	small	of	about	2	hectares	in	size	and	the	production	of	sugar	cane	is	low,	as	more	area	is
under	wheat,	also	the	raw	material	is	less	raw	material	(c)	must	pay	for	electricity	to	run	the	machine.	(D)	Since	the	industry	is	small,	the	production	is	lower	and	therefore,	it	is	not	able	to	increase	its	profit.	Question	4:	Could	you	think	of	any	reason	when	he	might	have	faced	a	loss?	Answer:	Conditions	under	which	you	can	face	a	throw	can	be	one	of
the	following	(A)	If	your	crusher	becomes	defective,	your	production	will	reduce	or	stop	completely.	(B)	If	due	to	drought	or	other	calamities,	the	production	of	sugar	cane	The	neighboring	areas	reduce;	His	production	of	Jaggery	will	shrink	with	the	loss	to	him.	(c)	If	Jaggery’s	demand	decreases,	you	won’t	be	able	to	sell	enough	to	break	even.	(d)	If
other	costs	such	as	electricity,	labor	or	transportation	costs	increase,	you	may	face	a	loss.	Question	5:	Why	does	Mishrilal	sell	its	jaggery	to	traders	in	Shahpur	and	not	in	its	village?	Answer:	(a)	Palampur	is	a	small	village	with	450	families	and	there	is	not	a	big	demand	for	Jaggery	there.	(B)	Shahpur	is	a	city	where	people	come	from	different
surrounding	villages	to	buy	things	and	there	is	more	demand	for	Jaggery,	So	Mishrilal	sells	its	traders	from	Jaggery	to	Shahpur	and	not	in	its	We	discuss	page	No.	12	Question	1:	How	Kareem	is	the	capital	and	Kareem's	work	different	from	Mishrilal?	Answer:	80th	has	a	fixed	capital	in	the	form	of	machines,	but	Kareem	has	a	larger	fixed	capital
because	it	has	resources	in	the	form	of	computers	that	are	more	expensive	expensive	the	sugar	cane	crushing	machine.	Kareem	also	employed	qualified	and	educated	computer	teachers,	while	Mishrilal	work	is	mainly	unskilled	work	Question	2:	Why	didn't	someone	start	a	computer	center	before?	Discuss	the	possible	reasons	Answer:	Reasons,
because	someone	has	not	started	a	computer	center,	can	be	one	of	the	following:	(a)	As	very	few	educated	people	were	there	in	the	village,	there	was	no	request	for	computer	courses.(b)	The	villagers	were	unaware	of	the	potential	employment	of	computer	courses	and	therefore	no	one	thought	that	such	a	business	could	succeed.(c)	Teaching	teacher
for	computer	courses	was	not	available	Let’s	Discuss	Page	n.	13	Question	1:	What	is	the	fixed	capital	of	Kishora?	Answer:	The	fixed	capital	of	Kishora	is	the	buffalo	and	the	wooden	cart	that	bought	with	the	bank	saathe	Question	2:	What	do	you	think	would	be	his	work	capital?	Answer:	The	money	he	earns	from	the	sale	of	milk	and	the	transport	of
goods	and	his	bullock-cart	minus	his	life	expenses	is	his	labor	capital.	Question	3:	How	many	production	activities	is	Kishora	involved?	Answer:	Kishora	is	involved	in	the	following	production	activities.(a)	Selling	buffalo	milk.(b)	Transport	of	various	items.(c)	Bring	the	clay	from	the	Ganga	River	to	the	vasellame	(d)	Slave	transport	etc	to	Shahpur.
Question	4:	Would	you	say	that	Kishora	benefited	from	better	roads	in	Palampur?	Answer:	Kishora	certainly	benefited	from	better	roads	in	Palampur	because	it	is	involved	in	the	transport	sector;	better	roads	allow	him	to	easily	transport	goods	from	one	place	to	another,	run	his	business	successfully	and	earn	profits,	which	would	have	been	very
difficult	in	the	absence	of	adequate	roads.	Production	of	PulsesMain	production1965	–	66101970	–	7112241980	–	8111361990	–	9114552000	–	0111702010	–	1118872012	–	1318942013	–	1419962014	–	1517872015	–	1617942016	–	1723992017	–	182497	NCERT	solutions	for	class	economy	9	Chapter	1	Exercise	issues	1:	Each	village	in	India	is
examined	once	in	ten	years	during	the	census	and	some	of	the	details	are	presented	in	the	following	format.	Fill	out	the	following	data	according	to	the	information	about	Palampur.	(a)	POSITION:	(b)	PROFESSIONAL	TRAINING	TERRITORIES	Market	Raiganj	and	ShahpurElectricitySome	homes	have	electrical	connections.	The	electricity	powers	all
the	wells	of	the	pipe	in	the	fields	and	is	used	in	various	types	of	small	businesses.	Communication	Well	connected	with	nearby	villages	and	towns.	3	km	from	Raiganj.	The	all-weather	road	connects	it	to	Raiganj	and	further	on	toShahpur.	There	are	many	types	of	transport	such	as	bullock	trolleys,	flip	flops,	bogeys,	motorcycles,	jeeps,	tractors	and
trucks.	Nearest	city	Shahpur	Question	2:	Modern	cultivation	methods	require	more	inputs	that	are	manufactured	in	the	industry.	Are	you	okay	with	that?	Answer:	Yes,	it	is	correct	to	say	that	modern	cultivation	methods	require	more	inputs	that	are	manufactured	in	the	industry.	This	is	because	modern	cultivation	methods	use	a	variety	of	high
intensity	seeds.	These	seeds	require	chemical	fertilizers	and	pesticides,	agricultural	implementations	such	as	tractors	and	adequate	irrigation	systems	such	as	electric	pipe	wells	and	all	these	elements	are	manufactured	in	industries.	However,	traditional	farming	methods	use	a	relatively	small	variety	of	seeds	and	use	cattle	and	other	natural	manures
as	fertilizers,	which	is	why	they	are	less	dependent	on	industrial	production.	Question	3:	How	did	the	spread	of	electricity	help	farmers	in	Palampur?	Answer:	The	spread	of	electricity	has	helped	farmers	in	the	village	of	Palampur	in	the	following	ways:	Most	homes	have	electricity	connections.	Electricity	is	used	to	run	tubiwell	in	the	fields.	Electricity
is	used	in	various	types	of	small	businesses.	Question	4:	Is	it	important	to	increase	the	area	under	irrigation?	Why?	Answer:	A	salaried	worker	could	be	employed	every	day,	either	for	a	particular	agricultural	activity	such	as	harvesting,	or	for	the	whole	year.	Most	small	farmers	have	to	borrow	money	to	organise	the	capital.	They	borrow	from	large
farmers	or	village	lenders	or	traders	who	provide	various	inputs	for	cultivation.	The	interest	rate	on	such	loans	is	very	high.	They	are	put	in	great	difficulty	to	repay	the	loan.	From	here	they	pay	very	low	wages	to	farm	workers.	Question	5:	Build	a	table	on	the	distribution	of	land	among	the	450	families	in	Palampur.	Answer:	Number	of	Land
households	(hectare)	Number	of	Land	households	(hectare)	1	500	240	Less	than	260More	than	2	Questions	6:	Why	are	the	wages	for	farm	workers	in	Palampur	below	the	minimum	wage?	Answer:	Wages	for	farm	workers	in	Palampur	are	less	than	minimum	wages	because:	There	is	heavy	competition	for	work	among	farmers.	Employment	is	less	and
farmers	are	more	and,	therefore,	farmers	have	to	be	content	with	what	they	earn.	The	land	is	owned	by	landowners	who	wish	to	earn	more	and	more	profit	by	giving	minimum	wages.	Farmers	are	illiterate	and	unaware	of	the	amount	of	wages	established	by	the	government.	Question	7:	In	your	region,	speak	with	two	workers.	Choosing	or	agricultural
workers	or	workers	working	in	yards.	What	wages	do	they	get?	Are	they	paid	in	cash	or	in	nature?	Do	they	have	work	regularly?	Am	I	in	debt?	Answer:	To	beFrom	the	students	themselves.	Question	8:	What	are	the	different	ways	of	increasing	production	on	the	same	piece	of	land?	Use	examples	to	explain.	Answer:	The	different	ways	of	increasing	the
production	on	the	same	piece	of	land	are:	the	multiple	clipping:	It	is	the	most	common	way	of	increasing	production	on	a	given	piece	of	land.	Under	it,	more	than	one	harvest	is	cultivated	on	the	same	piece	of	land	during	the	year.	Indian	peasants	should	grow	at	least	two	major	crops	in	a	year.	In	India,	some	farmers	are	growing	a	third	harvest	even
over	the	last	20	years.	Modern	cultivation	methods:	production	on	the	same	piece	of	land	can	also	be	increased	with	the	adoption	of	modern	cultivation	methods.	The	green	revolution	in	India	is	a	remarkable	example	of	it.	Under	modern	agriculture,	more	cultivable	areas	should	be	brought	into	HYV	seeds	and	irrigation.	The	use	of	simple	wooden	plow
must	be	replaced	by	tractors.	The	growing	use	of	agricultural	machinery	such	as	tractors,	threshing	machines,	combine	harvesters,	etc.	making	the	cultivation	faster.	Question	9:	Describe	the	work	of	a	farmer	with	1	hectare	of	land.	Answer:	A	farmer	with	1	hectare	of	land	will	be	called	a	small	farmer.	Because	the	cultivation	area	is	small,	the	result
can	also	not	be	high.	So	in	order	to	be	able	to	sell	the	earth	in	the	best	possible	way,	the	farmer	needs	money.	This	money	is	borrowed	from	a	usurium	at	a	high	interest	rate	and	sometimes	it	can	also	have	to	work	as	a	agricultural	laborer	for	the	usurer.	Once	the	farm	is	cultivated,	the	product	must	be	divided	by	personal	use	and	for	market	sales.
Whatever	the	profit	is	achieved,	the	farmer	must	usually	give	way	to	the	usurium	and	little	sum	of	money	is	left	for	the	use	of	the	farmer	itself.	The	only	help	of	a	small	farmer	gets	that	of	the	members	of	his	family.	Question	10:	How	to	do	average	and	large	farmers	get	capital	for	agriculture?	How	is	it	different	from	the	small	farmers?	Answer:
Medium	and	large	farmers	usually	have	a	cash	surplus	by	selling	their	agricultural	products.	Since	they	have	land	and	the	house,	they	easily	get	the	loan	from	the	banks.	The	small	farmers,	on	the	other	hand,	may	not	be	able	to	get	bank	loans.	They	must	depend	on	the	local	merchant	and	loan	payroll.	Question	11:	In	what	conditions	do	you	have	a
loan	from	Tajpal	Singh?	Would	it	be	saved	¢	s	condition	to	be	different	if	he	could	get	a	loan	from	the	bank	at	a	low	interest	rate?	Answer:	Savita	required	money	for	the	purchase	of	seeds,	fertilizers	and	pesticides,	and	water	for	irrigation.	He	also	needs	money	for	repairing	his	own	agricultural	tools.	So,	he	decided	to	borrow	money	from	Tejpal	Singh,
a	great	farmer	in	his	Tejpal	Singh	agreed	to	give	the	loan	of	Rs.	3000	at	an	interest	rate	of	24	percent	for	four	months.	She	also	got	her	to	agree	to	work	on	her	field	during	the	harvest	season	for	Rs.	35	a	day.	Savita’s	condition	would	have	been	better	if	he	could	have	obtained	a	loan	from	the	bank.	The	bank	would	have	provided	her	with	the	loan	at	a
low	interest	rate.	In	addition,	Savita	could	have	spent	more	time	on	her	own	field,	instead	of	for	Tejpal	Singh	as	an	agricultural	worker.	Question	12:	Talk	to	some	old	residents	in	your	region	and	write	a	brief	report	on	changes	in	irrigation	and	changes	in	production	methods	over	the	last	30	years.	Answer:	Students	must	ask	this	question	based	on
their	observation.	Question	13:	What	are	the	non-agricultural	production	activities	taking	place	in	your	region?	Make	a	short	list.	Answer:	Non-agricultural	production	activities	in	our	region	are:	Transport	of	dairy	products	General	shops	FishingMining	Question	14:	What	can	be	done	so	that	more	non-agricultural	production	activities	can	be	started
in	villages?	Answer:	Three	things	that	must	be	done	to	encourage	non-agricultural	production	activities	in	villages:	The	government	should	set	up	programmes	for	which	landless	workers	and	small	farmers	are	able	to	obtain	cheap	loans	to	start	small	individual/community	businesses.	In	addition	to	financial	assistance,	the	government	should	establish
rural	laboratories	to	allow	villagers	to	build	on	their	skill	levels.	The	government	should	also	work	to	improve	the	infrastructure	of	villages	so	that	rural	parts	of	the	country	are	well	connected	to	urban	areas.	areas.
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